i | |79 SEEMREL Y |80, STEBHIHEL |81, HRAETS
& | IBAL [ AOFALEY) | BRL JAAOFALEY) [ AL [A(AOFALY)
=k 6 3.09 8 3.42 3 3.76
=il 23 1.23 24 1.23 24 0.84
TE 4 3.16 5 3.78 4 3.34
mET 5 3.15 6 3.55 1 9.09
TES 12 2.11 12 2.36 10 1.98
G 25 1.02 22 1.47 11 1.93
BET 8 267 10 3.10 2 408
TiEFKT 28 0.78 28 0.93 19 1.12
mA+H 21 1.34 21 1.54 12 1.76
ErETH 17 1.79 19 2.03 22 0.98
il 13 2.01 16 2.16 15 1.46
BEHET 30 0.39 30 0.39 25 0.76
4T BT 7 3.06 9 3.36 18 1.19
H E7ET 2 4.49 2 5.23 6 217
% HAET 10 2.18 4 437 21 1.08
PIANES)
B+ 20 1.10
=FH 1 5.26 1 6.05 7 2.07
ALET 24 1.11 26 1.11 9 1.98
REH 3 3.93 3 445 26 0.74
T {EHT 18 1.76 20 1.76 13 174
KINAt
LNODHET 16 1.80 17 2.10 14 1.56
=5 BT 11 2.16 13 2.34 23 0.87
th + {ZHT 27 0.85 27 0.99 27 0.69
&)1 BT 15 1.91 14 2.22 8 2.04
&N AT 19 1.72 18 2.07 5 2.88
ERET 17 1.37
B 14 1.96 7 3.53 32 0.19
FRERET 29 0.67 29 0.84 30 0.49
Y 75 +HT 26 0.97 25 1.14 16 1.46
KA HE 9 2.49 11 3.07 29 0.56
=FEH 22 1.25 23 1.25 28 0.61
¥l 20 1.49 15 219 31 0.34
.—,%qu 2.47 2.80 3.11
FR ER29% ER29% TEk284E12831H
=g XEBE REAE EkT- R EAT - R XA E
HAr BEmKE BEmKE BERERFBERR
BE

80. XBEMIEGZEM

(N (ABFAERY) )

40km




$5(82. e At F ERm , sz 3 g s
& [ B A AaFALEY) | IBRL [AADFAZEY) | IBEL [N AOFAHEY)

=k 2 0.89 3 2.98 6 2274
=il 19 0.49 23 0.77 19 10.25
TE 9 0.61 7 2.45 8 19.84
mET 0.71 1 3.37 2 28.95
TES 15 0.54 8 2.09 13 14.60
AT 11 0.57 11 1.93 10 17.96
BET 3 0.80 6 2.49 5 26.80
TiEFKT 6 0.70 20 0.98 20 10.07
mA+H 7 0.66 9 2.01 11 17.69
Ewh 10 0.59 21 0.89 23 7.25
il 8 0.64 12 1.84 17 11.00
BEHET 20 0.38 19 1.14 32 3.05
4T BT 1 0.89 2 3.27 21 9.82
H E7ET 4 0.72 4 2.90 4 27.87
% HAET 21 0.36 24 0.72 34 2.87
e+t 33 2.97
B+ 31 3.30
=FH 27 0.26 18 1.29 3 28.73
ALET 24 0.28 13 1.70 7 20.63
REH 18 0.49 30 0.25 22 8.90
T {EHT 17 0.50 10 1.99 9 18.37
KINFF 27 4.94
LNODHET 14 0.55 14 1.69 14 12.74
=5 BT 16 0.52 26 0.52 18 10.60
th + {ZHT 25 0.28 25 0.69 24 6.95
&)1 BT 28 0.23 16 1.44 12 16.86
&N AT 22 0.34 5 2.88 1 31.32
ERET 26 0.27 22 0.82 16 11.27
B 29 0.19 29 0.39 26 5.21
FRERET 23 0.33 27 0.49 30 412
Y 75 +HT 12 0.56 17 1.40 15 12.12
KA HE 13 0.56 15 1.67 25 5.39
=FEH 28 486
¥l 30 0.17 28 0.43 29 4.48
SRE 0.71 2.33 18.87
F2 Ek284E12831H TEk284E12831H 284
=g EE- R EM- EXMRE (B mREG-ERmRE | BREREBREREEH
HAr BEREERFBREZ BERERFBRR BERERFBERR

HEEEMEOHRERS
BE =

(N (AAFAHFY) )

3.34

1.98

1.56

1.12

0.84

0.56

)
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HETH A |12 85. E& RS 86. HEIZEME 87. JAER#

2| AL [smanFAsr:Y) | JEAL [FRAaFALREY) | IBAL [lRAOFALEY)
=Sxth 14 1.00 5 0.60 9 30.06
=il 22 0.84 14 0.42 14 20.79
TE 18 0.95 8 0.50 16 19.06
MEH 19 0.92 21 0.35 5 35.04
TES 28 0.72 13 0.43 18 16.01
G 31 0.66 12 0.44 10 27.86
BET 15 0.99 3 0.61 4 36.09
TiEFKT 32 0.63 9 0.49 15 19.73
mA+H 10 1.06 6 0.58 12 22.33
&Ermmh 25 0.77 16 0.41 23 6.84
il 16 0.98 10 0.49 13 21.66
RFET 26 0.76 17 0.38
4T BT 7 1.19 1 0.89
H E7ET 27 0.72 2 0.72 8 30.40
% HAET 29 0.72 20 0.36
e &t
B+ 3 2.20
=mast 12 1.04 26 0.26 1 56.69
ALET 21 0.85 24 0.28 7 31.37
REH 2 2.23 28 0.25 11 22.75
T {EHT 5 1.24 27 0.25 3 37.24
KINFF 1 2.47
LNODHET 13 1.01 18 0.38 17 16.74
=5 BT 11 1.04 31 0.17 20 8.86
th + {ZHT 9 1.11 15 0.42 22 7.08
&)1 BT 20 0.91 29 0.23 6 34.18
5 %N BT 8 1.19 22 0.34 2 39.28
ERET 4 1.37 25 0.27 21 8.24
B 24 0.77 30 0.19
FEETET 23 0.82 23 0.33
Y 75 +HT 17 0.95 11 0.45 19 15.09
KA HE 33 0.56 19 0.37 24 4.65
=FEH 6 1.22 4 0.61
£ RET 30 0.69 7 0.52
SRE 0.95 0.51 24.91
F2 TR28ZE1081H TR28ZE1081H TR28%1081H
=g BEHERFEERREH RERRFEERREH RRERFBREZREN
HAr BEREERFBREZ BERERFBRR BERERFBERR
e WERZEMER] EHZ2EMmEET
i3]

1.37
1.11
1.00
0.92
0.77
0.72

85. ERIEERH 0

(FEE%x (ARFAHREY) )

40km




jc(88. ERBEMERMA (89. EREERIEZE == =
HETA & |42 | = = 90. EMHEMIETE
2| BB % IBGL |mommmai ney) | IBAL % (AOFALST=Y)

=Sxth 25 20.60 18 334,083 29 3.08
=il 10 34.31 3 383,482 3 6.84
TE 11 33.56 20 331,187 18 3.74
mET 23 23.07 14 347,450 26 3.36
TES 16 29.13 9 361,622 9 466
G 15 29.62 32 276,765 19 3.73
BET 9 4311 33 275,885 11 439
TiEFKT 12 33.41 19 332,234 10 4.41
mA+H 26 17.28 29 304,804 20 3.72
&Ermmh 33 2.58 7 371,347 30 2.87
il 32 3.71 6 374,291 25 3.41
BEHET 14 31.35 13 347,943 5 5.58
4T BT 17 26.57 25 319,095 32 2.83
H E7ET 27 13.31 8 371,062 23 3.51
% HAET 29 7.39 4 377,756 22 3.55
PIANES) 6 107.97 10 361,509 27 3.30
B+ 1 787.28 16 338,607 17 3.84
=FH 3 230.08 24 321,342 24 3.50
A LT 34 2.42 2 386,992 6 5.44
REH 20 25.26 17 334,457 31 2.86
T {EHT 24 21.08 34 271,305 8 469
KINFE 2 255.25 1 467,989 1 7.73
LNODHET 22 24.45 11 360,814 28 3.28
=5 BT 19 25.90 5 374,596 4 5.94
th + {ZHT 8 46.24 12 357,305 21 357
&)1 BT 28 11.33 31 295,773 34 2.53
5 %N BT 13 32.56 23 328,602 14 418
ERET 4 143.98 27 316,215 13 4.25
B 18 26.25 26 316,525 12 435
FRERET 21 24.74 15 344,077 15 4.00
Y 75 +HT 30 5.44 30 303,539 16 3.88
KA HE 7 67.72 21 330,284 2 7.20
=FEH 5 112.26 28 310,733 33 2.1
¥l 31 3.95 22 328,696 7 4.95
SRE 2455 331,348 3.46
F TRR29EE ERR29FE ERR29FE
=g EEREERELKIGLsE. ERRERRIzinsE (EREEEFBEZREH
iy EREAGIEAD B EREERRIRE BEREERFBREZ
&= =1

(A GEREBE1AL:Y) )

371, 156

361, 622

347, 450

332,234

321, 342

304, 804

D
89. ERBERIRZEE o 40km




=
R & i:.;: 91. MM ERBIETE |92, IMRBFETE 93. JIFEFEER
2 | IBEL Jwo(AOFALEY) | NEHL [%o(AOFAL=Y) [ NEHL [% (AOFALT-Y)

=Sxth 29 1.01 31 214 2 8.60
=il 9 2.07 23 2.87 23 3.26
TE 24 1.25 22 2.91 13 4.40
mET 28 1.20 32 1.95 6 5.43
TES 18 1.54 30 2.16 11 455
G 30 0.99 21 3.12 4 6.35
BET 8 219 15 3.59 12 4.44
TiEFKT 13 1.78 7 4.95 14 4.06
mA+H 14 1.71 28 2.52 5 6.10
&Ermmh 25 1.25 29 2.34 7 498
il 22 1.37 20 3.30 16 3.94
BEHET 5 257 26 257 1 13.70
4T BT 17 1.57 3 5.67 10 459
H E7ET 32 0.78 17 3.51 17 3.74
% HAET 7 2.37 5 5.13 18 3.64
PIANES) 31 0.82 10 412 3 7.59
B+ 23 1.28 27 2.56 21 3.32
=mast 16 1.61 11 4.03 20 3.42
ALET 19 1.43 8 487 28 1.95
REH 6 257 1 6.86 25 2.62
T {EHT 4 2.60 12 3.91 29 1.51
KINFF 25 2.58
LNODHET 26 1.25 33 1.89 8 493
=5 BT 1 3.36 2 5.94 32 1.08
th + {ZHT 21 1.40 18 3.41 26 255
&)1 BT 10 1.90 19 3.40 22 3.29
&N AT 2 3.27 6 5.08 30 1.38
ERET 33 0.57 34 1.42 31 1.11
B 27 1.24 13 3.73 9 491
FRERET 12 1.82 9 419 15 4.05
Y 75 +HT 11 1.88 24 2.73 19 3.54
KA HE 15 1.70 14 3.60 27 2.11
=FEH 3 2.71 4 5.42 33 0.63
¥l 20 1.43 16 3.52 24 3.16
SRE 1.29 2.56 6.36
F TR29%F TR29%F TR29%F
=g BEHEERFERZREH RERRFBERREH | LEHKHE
HFT BEREERFBREZ BERERFBRR BEmKE

SBENE%R/ A0 x 1000
BE

(% (AOFAHFY))

5.42

4.19

3. 60

3.40

2.73

2.34

)
92. IDMEREIFRTER 0 40km
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AR |2 94 JRFEMEE 95. NKFHEHH 96. NKIEBEEEE

£ | IBfL [% NERL [ ARFAEEY) [ NBAL | FAes #uiY)
=Sxth 28 27.76 29 0.30 18 682
=il 27 28.89 7 1.09 8 2,115
TE 13 52.56 17 0.68 10 1,916
mET 22 43.85 15 0.69 3 3,788
TES 19 48.00 23 0.44 9 2,073
AT 11 57.34 19 0.53 22 275
BET 14 51.61 10 0.76 13 1,714
TiEFKT 18 49.12 9 0.78 15 803
mA+H 21 4714 14 0.70 16 769
&Ermmh 20 4731 18 0.57 25 174
il 15 50.96 24 0.42 14 1,184
BEHET 8 65.71 2 1.96 23 248
4T BT 29 26.67 5 1.22 6 2,478
H E7ET 10 60.00 11 0.75 17 729
% HAET 6 80.00 27 0.36 26 85
Bl AlIE S 25 30.00
B+
=FH 31 15.38 21 0.53
ALET 2 185.71 30 0.28 28 30
REH 26 30.00 8 0.79 1 17,116
T {EHT 23 33.33 31 0.25
KINFF 1 2.50
LNODHET 24 3217 16 0.69 2 4,106
=5 BT 30 16.67 13 0.72 27 66
th + {ZHT 16 50.00
&)1 BT 3 100.00 26 0.38 21 485
&N AT 4 87.50 22 0.52 4 3,160
ERET 17 50.00 6 1.11 12 1,719
B 7 72.00 25 0.39 19 641
FRERET 5 87.50 28 0.34 7 2,432
Y 75 +HT 9 62.90 12 0.74 20 582
KA HE 12 54.55 3 1.34 24 246
=FEH 1 200.00 4 1.25 11 1,785
¥l 32 11.11 20 0.53 5 2,540
SRE 36.07 0.48 1,519
F TR29%F TR29%F TR29%F
=g LEHKHAE EHBBURERE R EHBBURERE R
HFT BEmKE BEHBBURER EHBABURER
BE

95.

KK FEEH

# (ABFAHRY) )

40km




